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" March 26, 2015

Systems of equations

ESSENTIAL QUESTION:

How can I solve systems of equations?

QUESTIOMNS:

MOTES:

What is systems Systems of Equations|- A set or collection of B

of equations?

equations that you deal with all together at

once. Linear equations (ones that graph as straight

lines) are simpler than non-linear equations, and

the simplest linear system is one with two equations

and two variables.

What are ' 1, Substitution 3x + 2y = 12 withy=x -9
2 ways to 2. Elimination 4X + 5y = 16 subtracts 4x + 10y = 160
solve it?

Show the steps

1. Determine if you choose to use substitution

of solving one? or elimination 2 + 4y = -2
Y=(x+8)
2.PluginyY 2x + 4 (x-8)=-2
Include numbers | 3. Distribute 2X + 4x - 32 = -2
4. Combine like terms bx - 32 = -2
5. Get X on one side 6x = 30
6. Divide 6/6x = 30/6
7. Get X X =5

8. Plug X in to ind Y and solve  2(5) + 4y = -2

SUMMARY:

Systems of equations give 2 equations for us to solve it.

There's 2 ways to do it; substitution and elimination. Both will give the

same answer. When you Know Y, plug it in and use substitution. You can

multiply an equaftion and subtract it from the other, using eliminafion.
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SUMMARY:

The rules of raising a power to a power in Math are :
A = xAmn), and (xy)*m = x*m y*m. Polynomials are involved.
Fractions and decimals mm\f also have an appeufmnce. The bases are the
coefficlents. To raise a power to a power, an exponent Is needed outside.
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CLASS/PERIOD: Algehm 1

Factering Polynemials

DATE:

2015 March 23

ESSENTIAL QUESTION:

Using your math skills, how would you factor polynomials ?

QUESTIOMNS:

MOTES:

What is factoring ? Factoring |- The process of separating a polynomial back
info a product
Using math terms Polynomial |- An expression of more than two

you use in class,

give the definition

Algebraic terms, especially the sum of several terms that

contain different powers of the same variables

of a polynomial ?

Polynomials that cannot be factored are called Prime

What's GCF ?

GCF -|Greatest common factor

Identify the steps

1. Look at coefficients first

taken to solving

2. A variable must be common to all terms to be a GCF

this problem ?

3. If a variable is common to all terms, take the one with

the smallest exponent

v e ge | inp |
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3a"3b"2c - 9a"2b"3c"2 + 15ab"4c” 3

problems for
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These are the steps and process to factoring polynomials.

When factoring polynomials, you must follow the math rules. Looking
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ESSENTIAL QUESTION:

How can students successfully use models to ( x and /) Integers?

QUESTIONS:

MOTES:

*

Can you identify ln#eqer—

what is an Includes positive and negative #s

integer?
What type of If you multiply a posttive times a negative
number would number, the result of the problerm would be a negative
pe the outcome | FAUMIBEE PN = N
of a positive
Times a negative? Ex : 100¢-5) = -500 2(-16) = -32
What type of If you multiply a negative with a negative, the

number would

outcome of the problem would always be d posifive |

be the outcome

FUTIBER NV - P

of a negative

times a negative? Ex : -6(-13) = 78 -2(-16) = 32

Would the rule

* This rule 15 valid whenever you deal with

uppl‘f to others?

mulﬂphﬂng or dwmg negmwe numbers with pﬂsmue or

negative Does not work with addition or subtraction

SUMMARY:

An Integer Is any number, regardless of it's sign. When

adding and subtracting integers, you do not follow the rule. However, if you

multiply and divide integers, you are required to use the rule

A P(N) = N and a N(N) = P. Use this rule in equations foo.
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L QU Usmg my Knaw\edge of math, how can | determine the '
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QUESTICMS: MOTES:

(AR.Y)
Explain what it Solution to a system Is a point that makes
means fo solve | both equations true A point that infersects all lines
a system of Graph the equation. If none / infinite, don't find point.

equations? I one, find point.

N2

Depict the diff.
solutions of a
Graph and
Fxp'lmn how

_-thp_\/ differ

fYyom-each-other?| o o

1. No solution.
They never meet at
a pmm

2. Infinite solution.
Thexl,f are the same

3 One solution.

-Study for auiz 12915
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SUMMARY:
1o solve a set of equations, you determine the point that makes the

Solutions both true. First, you graph the slope-intercept form onto the graph
Second, you determine if ‘rhey cross each other Then, you solve if both equaflﬂns
eq_um each other, 10 ge*r A NexT, Tﬂu plug in A Tofind Y, and *fﬂu ge‘r yﬂur pmn‘r_
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